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Example 1.2. At UCLA 70 percent of students can speak either French or Spanish respectively. If
half of the UCLA students can speak Spanish and 30 percent of UCLA students can speak French, what
percentage of students can speak both.
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4mp]e 1.4. (PSI 1.1.1) Of a group of patients having injuries, 28% visit both a physical therapist
and a chiropractor and 8% visit neither. Say that the probability of visiting a physical Therapist exceeds
the probability of visiting a chiropractor by 16%. What is the probability of a randomly selected person
from this group visiting a physical therapist?
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